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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

Animal husbandry is the branch of agriculture ----eeeeeeeeee -~ with animals that are
raised for meat, fiber, milk, eggs, or other products.
1) handled 2) concerned 3) included 4) interfered

Named by Portuguese explorer Ferdinand Magellan, who believed it to be free of
--------- -- storms, the Pacific Ocean is not, in fact, so pacific.

1) violent 2) distant 3) temporary 4) pointless

Animal rights is not just a philosophy—it is a social movement that ------ceeeeeeee-
society’s traditional view that all nonhuman animals exist solely for human use.

1) asserts 2) magnifies 3) distinguishes 4) challenges

If people can raise enough fish on farms, it stands to --------=--=-—— that they will be
less inclined to hunt them from the sea.

1) logic 2) rationality 3) reason 4) attention

The programmer -------------ees an analogy between the human brain and the
computer.

1) drew 2) bore 3) took 4) put

The e of the editor’s comments made us think that he hadn’t really read
the manuscript.

1) intensity 2) ignorance 3) tolerance 4) superficiality

The two boys tried to sound ----—----—---—- at the police station, but they weren’t really
sorry that they had herded the sheep into Mr. Ingersoll’s house.

1) resistant 2) impatient 3) regretful 4) indifferent

Though he spoke for over an hour, the lecturer was completely -----<--=e-——-—- and the
students had no idea what he was talking about.

1) solitary 2) inarticulate 3) curious 4) effortless

For years no one could make this particular therapy work in animals larger than
rodents, but now two research groups have demonstrated its —---eeeeeeee- in dogs.

1) efficacy 2) restriction 3) sympathy 4) vulnerability
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10- The African elephant has become the object of one of the biggest, broadest

international efforts yet --eceemmeaaees to turn a threatened species off the road to
extinction.
1) intruded 2) explored 3) mounted 4) compensated

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists first recognized the value of the practice more than 60 years ago. when
they found that rats (11) ---=-mceemmeeeev a low-calorie diet lived longer on average
than free-feeding rats and (12) ---se-cemmeeeee- incidence of conditions that become
increasingly common in old age. (13) ==-=--eeeeeeeeee ., some of the treated animals
survived longer than the oldest-living animals in the control group, (14) -=-==-m==enun-
that the maximum life span (the oldest attainable age), (15) --=-=--=-=n---- merely the
average life span. increased.

11- 1) were fed 2) which they fed  3) fed 4) feeding
12- 1) had a reduced 2) they reduced

3) were reduced 4) that it reduced
13- 1) Although 2) While 3) What is more 4) So that
14- 1) meant 2) which means 3) means 4) it means
15- 1)no 2) nor 3) neither 4) not

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The attitude of managers has the greatest influence on how the work force will accept
the new material replenishment system. The philosophy that "the line must never stop"
is a cornerstone concept in many manufacturing operations. A common understanding
is that if the company is not making parts, it is not making money. This becomes a
major source of apprehension for all personnel.

As long as the people are held accountable for nonstop production, they make
every effort to safeguard that the line continues to run, whether it is with the correct
part or not. They take precautions so that if the line does go down, it is not their fault.
Managers must understand that this philosophy results in excess stock and shoddy
repair methods. It is important that the company be honest in recognizing that they
may be broadcasting this message through actions. even if they speak differently (in
other words, actions speak louder than words).
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19-
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To prevent line stoppages, operators want large amounts of parts in their area. This
ensures that regardless of the response time of the material handler, the operator has
parts to keep the line running. That way, if the line does stop, it is someone else's fault.
Also, high stock levels act as a barrier to the main aisle-ways and prevent managers
from scrutinizing an operator’s actions.

Material handlers may like large amounts of inventory to provide a greater amount
of "warning" to supply the line. Occasionally, the material handler provides the line
with the stock needed, and stages material close by. This allows the material handler to
quickly feed the line when the operator's material runs low. and safeguards the
material handler from being the reason the line stops. Once he or she uses the staged
material. a new batch is gathered and placed nearby.

Production control departments tend to order material in excessively large
quantities to ensure availability and to minimize transportation costs. However, the
burden that a large amount of material places on the manufacturing floor is typically
unseen from the production control office but must be endured by the floor personnel.

The company personnel ——--—--aeneeeev,

1) worry about the managers' attitudes towards production

2) will be worried if the company does not make money

3) do not understand the new material replenishment system

4) do not care about manufacturing operations in the company

The second paragraph is mainly concerned with —-—--eceeeeeeen !

1) non-stop production regardless of quality

2) the importance of managers' honesty in practice

3) how to hold people accountable for non-stop production

4) excess stock and shoddy repair methods in the company

Paragraph 3 mainly deals with ————eee,

1) how to keep the line running with no problem

2) operators' strategies to escape possible blames

3) managers' strategies to scrutinize operators' actions

4) why managers want main aisles blocked with stock

Paragraphs 3 & 4 are similar in that they both describe people who ----eeeeeaeaees v
1) want barriers removed so that managers can scrutinize workers' actions
2) blame the managers for any possible stoppage in production lines

3) attempt to show methods of producing higher quality products

4) try to safeguard that the production line keeps running

The last paragraph mainly discusses ———

1) the availability of materials required by the production line

2) the costs the production control department pays for transportation

3) the positive & negative effects of ordering large quantities of materials
4) the burden the production control department personnel have to endure
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PASSAGE 2:

The Supply-Chain Operations Reference model (SCOR®) is the product of the Supply
Chain Council (SCC), a global non-profit consortium whose methodology. diagnostic
and benchmarking tools help organizations make dramatic and rapid improvements in
supply-chain processes. SCC established the SCOR process reference model for
evaluating and comparing supply-chain activities and performance.

The SCOR-model captures the Council's consensus view of supply chain
management. [t provides a unique framework that links business process. metrics, best
practices and technology into a unified structure to support communication among
supply chain partners and to improve the effectiveness of supply chain management
and related supply chain improvement activities. SCC membership is open to all
companies and organizations interested in applying and advancing the state-of-the-art
in supply-chain management systems and practices.

According to the text, any company which is interested in supply-chain management
system could

1) join SCC

2) manage systems of practices

3) open itself to all companies

4) apply the state-of the-art in supply chain

The word "It" in paragraph 2 reffers to

1) the council's view 2) the SCOR-model
3) a unique framework 4) the supply chain management
The SCOR model is ——----maemmnmmv,

1) a metrics model

2) open to all companies

3) a global non-profit consortium

4) the product of SCC that captures the council's view

According to the text, the performance and activities of supply chain is evaluated by

1) the SCC

2) the Council's consensus view

3) the SCOR process reference model

4) all companies and organizations

According to the text, which one is SCC?

1) The supply chain reference model

2) The producer of supply chain management system

3) The organization that makes rapid improvement

4) The owner of the methodology and tools that helps organizations in supply-chain
processes
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PASSAGE 3:

The main advantage of a Break-Even Point is that it explains the relationship between
costs. production volume and revenue. This analysis can be expanded to show how the
changes between fixed and changing cost relations will affect profit levels and the
Break Even Point in for instance product prices or turnovers. The Break Even Analysis
is particularly useful when it is combined with partial budgeting techniques. The most
important advantage to using the method is that it shows the minimally required
amount of economic activity, necessary to prevent potential losses. Furthermore, based
on the Break Even Point formula, it's easy to make additional calculations that provide
insight into the profitability of the investment.

According to the last sentences, the Break-Even Point formula —-—--—eceeeeeeee,
1) is easy to be calculated

2) calculates profitability of the investment

3) is based on the profitability of the investment

4) does not provide insight into the profitability of the investment by itself
BEP (Break-Even Point) is useful because —--—--eeeeeneee,

1) it explains the relationship between costs, production volume and revenue
2) it provides insight into the profitability of the investment

3) it is combined with partial budgeting techniques

4) it is necessary to prevent potential losses

How can Break-Even analysis show the changes of costs (fixed and changing) affecting
profit levels?

1) directly

2) particularly

3) with expantion

4) based on the Break-Even Point formula

We can make the Break-Even Analysis especially useful by —-—-—--env- .

1) expanding it

2) preventing potential losses

3) using the required amount of economic activity

4) combining it with partial budgeting techniques

The most significant advantage of using Break-Even Analysis is that ——--eeceeeeeeeee,
1) it minimizes the required amount of economic activities

2) it shows the amount of activity needed to prevent losses

3) it is combined with partial budgeting techniques

4) it is necessary to prevent potential losses
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